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A contractor whao specializes in custom=built homes utilizes
the _ type of manufacturing.

{A) hybrid

{B) assembly-to-order

(C) make-t-stock

{07 make-to-order

(E) praject

The person most responsible for initiating interchangeable
parts in manufacturing was

{A) Eli Whitney.

{B) Frederick Winslow Taylor

{<) Henry Ford

{[}) Alfred P. Sloan, Jr.

{E) Lillian Gilbreth

The term Electronic Data Interchange (EDI) is most closely
associated with which of the following trends in aperations
managsmant?

(A) Jut-in-time production

(B} Service faciory

(C) Computer-related production technologies

(D) Time-based competition

(E) Business process reengineering

An example of & job shop is:
{A) consulting
(B) ship building
() fast-food
(D) police service
(E} pourmet restaurant

“The Servige Process Matrix can be used to:
(A) measure the guality of servies operations
(B) investipate strategic changes of service operations
over time
{C) analyze technological diversity of services
() Yink organizational and operational goals
(E) all of the above

Operations strategic planning is best undersiood within the
cantext of:

{(A) corporate level strategic planning

(B) business level sirategic planning

(C) product level stategic planning

{IN all of the above

{B} none of the above

The reduction of setup time from | hour to 15 minutes on
critical production lines is an e:xample of which measurable
goal?

{A) delivery reliability

{B} delivery speed

{C) process flexibility

{D} quality of conformance

(E) all of the above

The strategy of building and maimtaining exira capacity is
catled:

(A} business level strategic planning

(B} capacity cushion

(C) capacity decision

(D) capacity strategy

{E) strategic positioning
The relationship between a firm's value chain and the value
chain of its suppliers and distribution chanaels is called:

{A) valpe analysis | .~ - -
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(B) vertical linkages

() business process reengingering
(D) vertical integration

{E) none of the above

. The random compenent of demand is:

{A) the mean vafue of the time seties

{B) the recurrent upward or downward wavelike
conditions that cecur over time

{C) the upward or downward movement over time

{D) a regular fluctuation that is a function of weather or
the tieae of year

(E} shott erratic movem ents that follow no discernible
patiern

. A forecasting method that protects the anonymity of the

respondents is:
(A) jury of executive opinion
(B) sale force composite
(C) market research surveys
(D} Delphi method o
{E} naive exirapolation

. A scatter diagram is used to:

(A} determing if multicollinearity exists

(B) verify a linear relationship between the dependent am
mdependent variables

{C) measure forecast accuracy

(D) selecting an appropriate vale for the smoothing
constant

(E) selecting an appropriate value for the smoothing
constarnt

Production planning and process design are examplss of:
{AY} tactical degisions
(B) ecotomic decisions
(C) strasegic decisions
(D) sequential decisions
(E) none of the above

The theory of design and manufactering cccuring
simultaneously is calted:

(A) product design

(B} computer-aided design

(C) quality function deployment

(D) concurrent eagineering

(E} product families

“Zerg defections” is a ferm ased to described:
{A} a goal for service firmg

(B) quality controi

(C) a goal of standardization

(D)) engineering and technotopical goals

{E} manufacturing goals

The “voice of the customer” step in developing the House
of Quiality defermines:
{A) how well we are satisfying customer attributes as
compared to our competitors
{B) how the needs and wants of cur customers can be
addressed better
{7y what relationships exist between the customer
attributes and the technical requirements
(D} trade-ofis between technical requirements
(E) none of the above

Capacity planning will answer questions concemning:
(A) how much is required
(B} when it is required
{C) what type is required
f0) &l of the above
(B} Aand B only
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Zoning, land availability, construction costs and taxes are
examples of;

{A} site considerations

(B} community considerations

{) reglon considerations

(D} all of the above

(E) A and C only

[509000 certification::
(A) guarantees quality
(B) is a requirement for international frade
(C) insures fitness for use
(L7 guarantees consistency
(E) all of the above

A griterion that consumers use to make a selection among
competing produets is:

(A) qualifiers

(B) assurance

{C) reliability

{Iy arder winner

{E) poka-yole

Lost goodwilt Is an example of!
(A) intemal failure costs
(B) extemal fadlure costs
(C) appraisal costs
(D) prevention costs
(E)} none of the above

Foke-yoka is:

{A) established series of steps or operations which work
together

{B} quality techniques oriented toward the design of
production systems which are nearly foolproof,

{C} the process continuous improvement,

{11) the use of teams of individeals as problem solvers

(E) zlfof the above

. 'The use of computers in interective engineering drawing

and storage of designs is:
(A) URC
(B) CIM
(C) CAD
(D) FMS
(E) CAM

- Which of the following s NOT a logistics systems

component?
{A) physical supply
{B) logistical distribution
{C) internat operations
{D) physical distribution
(E) all of the above are logistics system components.

*Freight consolidation, the practice of combining several

smaller shiprtents into one larger shipment, is effective
{A) cn both inbound as well as putbound shipments
(B} on inbound shipments only
() oo catbound shipments only
{0} on neither inbound nor cufbound shipments

(E) ounly when full vertical integration of supply is present

_ is medium-term capacity platming with a time horizen
of two to eighleen months.

{A) material requirements planning

(B) rough-cut capacity planning

" [C) aggregate production planning

(I} hierarchical production planaing
(E) strategic planning.

. Which of the following actions is consistent with following

a pure level sirategy?. S
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(A) Vary production Jevels to meet demand requirements

(B} Vary work force 10 meet demand requirements

(C} Vary production levels work force to meet demand
requirgments

(D) Use of inventory to meet demand requirements

(E) Mane of the above

First-tier supplier in a tean production system are
{A) assigned the job of fabrication individual parts
{B] asubsidiary of the parent corporation
{C) responsible for production of a whole component
{I}} cancerned with cost reductior
(E} none of the ahoye

A method for comprehensively analyzing tha cests of sach
manufacturing step with the goal of cost improvement is
known as

(A} buginess process reengineering

(B} supply chain management

(C) rescurce deployment

(D) value analysis

(E) vertical integration

One of the earliest mathematical appreaches to aggregate
production planning was the ____ developed by Holt,
Modigliani, and Sisnon,

(&) simplex method

(B) trial-and errar methoed

(C) transportation model

{0} linear decision rute

{E} heuristic model

Of the following types of items, whish wonld generaliy
have dependent demand?

{A) subassemblies

{B) component pars

(C) finished goods

(D) ali of the these

(E) only Aand B

Which of the fallowing statemenis about bagic E0Q models
is TRUE?
{A} If annuzl demand were to double, the EQC would
increase,
(B) if annuzl demand were to double, both the ECOQ and
the number of orders per vear would increass.
{C) If the carrying cost wers to increass, the EQQ would
fall.
{0} E!"thc erdering cost were {0 deuble, the EQO would
rNse.
{E} All of the above statements are {Tue.

The basic Economic Order Quantity model is most relevant
for which of the following tasks?

{A} ordering dependent demand items

(B} determining fixed arder quantities

{C) cakulating single-period inventory quantities

(D) ceordinating the purchase of several related items

{E} calculating safety stock

The is not generaily a determinant of the reorder po.im.

{A) cycle-service level

{B) fength of lead time

{C) lead time variability
{0 stockaut nisk

{E) tem cast

which of the following are generally part of an item’s
inventory record? ‘i
{A) Quality specifications
(B) Lead time
{C} Scrap allowances
(D) Lot size ar lot sizing method
(E} Only B and D.
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The acronym BOM is most closely associated with which of
the following terms?

{A) Master Production Schedule

(B} net requirements

(CYy scheduled receipts

() product srructure diagram

(F) inventory records

. The planned order release row in a standard MRF table (s

calcilated by

{A) performing lead time offsets on the jtem’s net
requirements.

(B) offsetting gross requirements by the item’s cumulative
lead time.

{C) subtracting inveniory on hand from gross
Tequirements.

(D) performing lot-sizing onreach item i the net
Tequirements row.

{E) muitiplying gross reguirements of the parent by the
number needed of the child,

Which of the following devices may be used to compensate
for uncertainty in MEP?

tAY) Safety stock

(B} Safety lead time

(C) Scrap allowances

T All of the above

(E) None of the above; MRP does not have uncertainty.

_is the rough-cut capacity planning technique that uses
Bills of Matet{als angd Rowting and Standard Time Data
accurately defermine capacity requirements.

{A) Capacify Planning usitig Overall Factors

(B} Capacity Planning using Capacity Bills

{C) Capacity Flanning using Resource Profiles

(D) Capscity Requirsments Planning

{E} Matertal Requirements Flanning

Which of the following is a shortcoming of capacity
planning using overall faciors.
{A) requires time phasing of component requirements
{B) does not consider standard tizne data
{C} does nat consider the current status of finished and
work in process inventories
(D)) requires more complex caleulations than other
rough-cut techniques
(E) all of the above are shortcomings

n shop Aoor management, which of the following items are
ordinarily non-valee adding activities?

(A) gueue time

{B) moving

{C} inspecting

{02} setup time

(E) all of the above

The dispatching algorithin known as Johnson's rute applies
1o which of the following situations?
(4Y Ay number of jobs 1o be sequenced at a single
machine or facility
(B) Any number of jobs 1o be sequenced at two machines
or facilities
{) Two jobs to be sequenced at two machines or
facilities
() Any number of jobs to be sequencead at amy nuniber of
machines or facilities
(E] A and B are both cormrect

The Theery of Constraints -
(A} is primarily aboug the use of lingar pragramming in
shop fleor control.-
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{(B) was originally called Synchronous Manufzeturing

{C) offers a method for aptimizing shop floor control
decisions.

(D} offers an optimizing technique for ¢liminating
battleneck resources.

{E} is nomne of the above.

is a major motivation of JIT pmducuon SYsTems.
" (&) Reduction of rewark and scrap in production
{B} Ecoromies of scale in batch production
(C) Reduction of all unnecessary investory
(D) Elimination of all sources of value added
{E) Both A and G are lrue, .

IIT systems attempt o increase fexibikity and
responsiveness between suppliers and customers in order 10
(A} increasing the productive use of resources
{B) eliminate waste
{C) improve cuslomer satisfaction
(D} improve overall competitiveess
(E} all but A are frue

Which of the following is NOT among the requirements for
impiementation of JIT systems?

{A) production Plexibility at every stage of supply

{B) schedule stability and discipline

(C) a logistics system to support JIT delivery

{[¥) acceptance sampling

(E) zll af the above are required for JIT implementarion

The term Kanban refers to

(A) 2 Japanese term for an quality assurance,

(B) 2 computer system nsed in Japanese firms for JIT
production control.

{C} a prodoction information system using cards or other
simple abjects for signaling.

{0} a German super-highway

(E) none of the above,

Which of the following statements regarding project
management is TRUE?
{A) The ¢ritical path is the shortest of all paths throagh
the netwark,
{B) The critical path is that set of activities that have zero
slack.
(C) Bvery network has at least one critical path.
{3} All of the abave are true.
{E} Only B and C are que.

Which of the following is a reason for using a dummy
activity in PERT/CPM?
(&) 10 indicate a zerc-length activity duration
(B) no bwo activities can have the same starting and
ending nodes,
(C) To clarify cases where activities have some preceding
activities in commaon
(D) All of the above are valid reasons
(E} Only B and C are valid reasons,

Which of the following statements regarditig project
management is TRUE?
{A) Project crashing is & CPM technique.
{B) Reducing project duration by reducing the durstion of
one or more critical tasks is called “project crashing ™
() Crashing procedures must consider the impact of
crashing am activity on all paths in the network,
{D} Project crashing {s an heuristic technigue.
fE) Allofthe above ars ue.
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